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1. IR TioTd ( Elementary Mathematics)
" gt G | T QT IS (Whole Numbers, Fractions and Decimals
GTITOT SFeRITIOTA - THTehLoT (stmple arithmetic equation)
W‘ﬂﬁ (Percent)
AR a1‘rq§r (square and square root)
AT h! ST U f2g80T-02 TT%h (Tedeh 05 TT)
(Graph Interpretation and Analysis-02 Graphs (05 questions
each)
3. dTfeTent ah! SATEAT Ua fas3our-02 UM (Iedieh 05 I99)
(Interpretation and Analysis of Table-02 Graphs (05

questions each)
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If /4096 = 64, then the value of /4096 + /0.4096

+4/0.004096  +40.00004096 up to two places of
decimalsis:

af% /2096 =64 ®, T
J40.96 + /04096 ++/0.004096 ++/0.00004096

F1 T Yo Al 9% °H B-
(1) 7.09 (2) 7.10 \(9,711/ (4) 7.12

UPSSSC Krishi Pravidhim Exam 2018 (15-02-2019)
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V0441

J(%BZB

., The value of

IS equal to:

V0441
0625 FT TF T 8-

(1) 0.048 (22784 (3) 0.48  (4) 0.084

I. (UPSSSC AMEEN 2016)
Ok
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The sum of two numbers is@and the difference of
their squares is 185. then the difference between the

two numbers iIs :

S @A HT AN 37 © 3R 398 I FT1 37X 185 21 SF

& &1 3fat m?\//
(1) 10 (2) 4 ) 5 (4) 3

UPSSSC Krishi Pravidhim Exam 2018 (15-02-2019)
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(/2__\
If (102)¢ = 10404 then,the value of
I (102)2 = 10404 T4

v104.04 + 10404 ++/0.010404
Is equal to / <hl HIH X T

(1) 0.306 (2) 0.0306 (3) 11.122\%.322

UPSSSC Krishi Pravidhim Exam 2018 (15-02-2019)
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The digit at unit's place of the number (1570)% +
(1571)% + (1572)° + (15713)° 15 ;

%0)2;%)2 +W_2f +y/4/{/3)2ﬁ' T T I W

(1 (2) 1 (3) 2 (4) 3

UPSSSC Krishi Pravidhim Exam 2018 (15-02-2019)

|
0 ++ 9%
‘D,

—————
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If (1101)? = 1212201, find the value of ,/121.220] -

g€ (1101)2 = 1212201 &1, @ J121.220] & 94 @

CAEL
(1) 110.1 m.m (3) 1.101  (4) 11.001

UPSSSC State Mandi Parsad Shift 1 2018 (30-05-2019)

|10
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The value of / &1 HME I BAT?

V19.36 ++0.1936 ++/0.001936 ++/0.00 !
(1) 4.8484 (2) 4.8694 (3) 84 (4) 4.8234
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__|_ ’2 ] T < NE

2 2 N2
, - The value of \f [6)1] +-[6}'D +I(G1L1) > is

(061)2 +(611)% +(6111)
0000 (Gl T b

\/ (6.1)% +(611) +(61]l)
FT HH o—

= (0.61)* +(611) +(6111)\/
— ' “177& — (1) 0.1 (2) 1.1 ) 10 (4) 100

@ UPSSSC State Mandi Parsad Shift 1 2018 (30-05-2019)
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The sum of /0,01 + \/0.81 + \/1.21 +4/0.Q009 is

J0.0009 T AN -

\/(L%’( (3) 2.03  (4) 2.11

UPSSSC State Mandi Parsad Shift I 2018 (30-05-2019)

Al
J
d
009

el 2

9'90—0
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What number must be added to the expression 16a%
WU —) U9+ -12a to make it a perfect square ?

16a2 - 12a Asish H foha+l G&A1 SISt SME, difsh 98 Teh
qui & 99 ST ?

y(/ = =
4 @ 5 ® 5 @16

UPSSSC State Mandi Parsad Shift I 2018 (30-05-2019)
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The mean of all odd numbers from 111 to 245
is /111 ¥ 245 dek ot weft forem dwemstt o

ared ry
(a) 180 %

(c) 182 (d) 184
UPSSSC State Mandi Barsad=Shritd2(

// -
Z— | —~

3 (30-05-2019)
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Which of the following numbers is NOT a
prime number?

ﬁw%rf@aﬁﬁaﬁqﬁﬁmqmmm

(@W

UPSSSC State Mandi Parsad Shift 11 2018 (30-05-2019)

S CDR
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:k—fb)ﬁ—g Find the square root of 272% — 1284 .
\f2722 _ 1282 =1 antwet 7ra hifg

(A) 200 (B) 240°(C) 256 (D) 144

(UPSSSC AMEEN 2016)
[ T X 149

Qo x(2

@
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4 4
If ; 0 costs <300, then g of a pizza will

cost:

gfe fussT & ; WRT T 0o T300 &F, O fise

& % T hT T SFIT BITT?
(a) 420 (b) 440
(c) T436 (d) 432
UPSSSC SHTATH UITaTeh-16.09.2018 IInd Shift
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The square of any number is divided I@ then
the remainder is:

ferdt oft G & ot & 4 O faafa & W

feRa=T 99 srerar &7
UPSSSC (Lower-II 01.10.2019 Shift-II"")
4 (a) 1

(b) 0
Q \AlerlorO/?ﬂ1?llT?ﬁ0
5 4 (d) neither 1 nor 0/ 1 31 &0
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The sum of three consecutive numbers is 96.
The greatest among these three numbers is:

AR i @Rl & InT 96 g1 34 o
AT H 9 St HEAT it g7
UPSSSC (Lower-II 01.10.2019 Shift-1I"")

(a) 28 (b) 31

(c) @ (d) 43

@@ =96
10 *’ Z /CH

//w
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Out of the following, which is the greatest?

frafafea § & %A O 6@ 99 98§72
UPSSSC (Lower-IT 30.09.2019 Shift-I", 10 AM )

a9’ (b) 7 =191
__]

© (2400)¢ (@) [3713]
l
X499
(449 ol

Oﬁ& P
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Out the following numbers, which one is NOT
a perfect square?

frafeiga et o ¥ @l |t G Ueh qul
ot gl 87
UPSSSC (Lower-I1 @% .2019 Shift-I*, 10 AM )

A1 (3136 >—
/12 \19-L

\
)
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For the first 567 natural numbers, the
arithmetic mean will be:

611! 35’_@_? Ugelt 567 WIghfdeh WEATST @ WU HIET
R 9—  feraam grm?

UPSSSC (Lower-11 30.09.209 Shift-I*, 10 AM )
— (a) 283.5 284

(c) 284.5 (d) 283




The sum of three consecutive odd numbers is
36 _more than the first of these numbers. What
is the middle number?

THANTA i faow G &1 9T, 39 9
o O ugelt U @ AT W 36 31U §1 Wed
AT T §7

(a) 15
(c) 19
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% be a natural number. When n’ is divided
I

ve get the remainder a. Then :

@ W & n U WTghieleh W& §1 9 n® W 9 G

m@w% ar ZH 9 a YT giaT B

UPSSSC (Lower Re.Exam 2017 (28.07.2019)

’—g—: g\}s—rﬁe/ctcube
C’f a T qUf & 2|

(b) aisa perfect square.

cold
a is both a perfect cube and %ﬁ%quare.
a T T IT'J]C g9 2 3N TH T

a 1s nelther a perfect cube, nor a perfect
square.

a = O Teh ol o 3R 7 & Wk gl ot 2|
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For numbersan as twin primes, a

and b are : ’ )
T AT T W& a — b 3R a + b ok fAT a
3T b T 87

SC (Lower Re.Exam 2017 (28.07.2019)
Co-primes / Hg-3HHTd
(b) twin prime / I 4T
(c) composite / 95T LSRG 6]
d) even / 99 H&AU
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Which of the following is equal to:
8.13 x 10%?
freafafga # 9 wE-ar faeew 8.13 x 10° %
T &2

uPssscC (Lower-IT 01.10.2019 Shift-IT"")
(a) 831000 (b) 8310000
() 813000 %13@00 -
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If 2% x 5% ends in 5, then the value of x is:

aﬁ@xsx%aﬁﬁsﬁm%,ﬁxwm
fehaaT T2

[ upsic (Lower-II 30.09.2019 Shift-I*, 10 AM )
/d
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_ Find the value of :

SO N
+ —— hT UTH ATA kil @
[« - /V

V124124 T+ +oo

. = +\/12-\/12-J12+...__-w
a—| d—| ‘{.—J‘*/// {%}2@ UPSSSC ( TT3IT Geiaeidh 31.08.2019 )

n("”‘) (a) 1 (b) 2

<3

——

—
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By which of the following largest number
should 2270, 3739, and 6677 be divided to
obtain the same remainder in each case?

T Rufa § d0ded 99 Uie @t & fag
NN [ 2270, 3739 31T 6677 Al fATAEd |
gt O ot g § fawrtsa ferar s

UPSSSC (Lower-II 01.10.2019 Shift-I")
2) 1459 by 1269
(c) 1479 (d) 1489




The product of the LCM and HCF of two

positive numbers is 72 and the difference
between he sum of the
numbers is:

TR WEITRT o TTeaH JuTgede (LCM)
31X WgaW WHUads (HCF) T UGS 72 8
3T 3T WEATAT | 6 <hT 37 g1 WA kT AT
L Er?
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The LCM of two co-primes (a and b) is:
& Hg-ITU_ TR (a 31X b) & oW
qUTUdch ST §ITT?

UPSSSC (Lower-II 30.09.2019 Shift-I*, 10 AM )
(@) a-b (b) a-+

(c) a/b (d)ab

7 —
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Let 'a' and 'b' be two numbers. The HCF of 'a’

and 'b' is 4 and the LCM of 'a' and 'b' is 400.
Then, the number of the pairs of values 'a' and
'b' can assume is:

" W ‘2t 3R D' T OHEETE €1 2t 3 b
TEOH_WHUddeh_4 § 3 oTgad |Huad®
400 31 4T 'a’' 3T 'b' & TS H AT & {A

| T &l WhaT &7
UPSSSC (Lower-II 30.09.2019 Shift-I", 10 AM )
(@) 3 (b) 4

M d) 1
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The greatest number that divide@ and 54

with remamder@ @espectlvely IS:

9% T ISl HEAT i |l § fEs 59 317 54
@l faafaa & W swavn: 3 3R 5 99 T

?

Mwer-ﬂ 30.09.2019 Shift-I*, 10 AM )
7 (b) 3

() S (d) 8
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If Raju carn.more t by what
Q‘Op/ - percentage is Vijay's earning Tess than that of

Raju?
TfE I, TaT W 20% 3Taeh = 3T ahtal
g, df Taorar grr o1fSa 3mer US) T 37fsTa 3T
@l AT U Teha Wia9Td &H g7

UPSSSC (Lower-I1 01.10.2019 Shift-I)

Sao A.25%
X [ B.50/3%
C.40/3%

D.20/3%
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@ Club A had wo the first 60 matches it

had played in a particular season. Then the
l ' minimum possible number of additional
matches the Club A should play to achieve a

= (GO -FX)K success rate om_ilﬁhat season is:
FAS A Ueh e U Wt T Ugel 60 e o
2 | 30% = S &, O 0T A T 39 Hie= |
44% cht AT IV U hid o fo0 feRa=

b - 3feieh gAaw el Go =Re?
UPSSSC (Lower-IT 01.10.2019 Shift-1T"")
(@) 15 (b) 20

(c) 30 (d) 25
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~_ . .
1000/boys and_600 glrl_s are examined in a test.

— —

‘e percentage of the mumber of candidates
who failed is:

5}0‘,' Bﬂo wuﬁmﬁwoomaﬂ\reoom

X1 &t udftem off At ¥ gt W W 43% AR

5 orsferal & W 35% UM B §1 el B ool
(L0 BTt Het R......... ¥

j@\ .o~  UPSSSC (Lower-1I 01.10.2019 Shift-1I"")
(a) 40% (b) 50%

6% (c) 58% Q})/tSO%
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Mahesh _had x number of trees in the year

2011. Every year, due to new plantation, the
number increased by 10%. In which year will
[IC4 ‘ the number of trees become at least 50% more

than that in 2011, for t t time?
- 68¢C aﬁLMﬁmgg%ﬁlmaﬁ,m
FUUT oh hRUT, T GET | 10% Thi gieg &
90(2 0|, D¢ mwﬁ%lﬁugvﬁwﬁmaﬁﬁ 011 &t AT

H U _hl HHT A A o &
S0/ o0 gofrrq:ﬁ‘?
1967 | = UPSSSC (Lower-II 30.09.2019 Shift-I', 10 AM )
00® 1Y (q) 2017 2016

(c) 2015 (d) 2014
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When the number_a is increased b@/o and
then reduced bv( we get 160. If the number

a is reduced by 20% and increased by 20, we
will get:

TS Teh ST o T 20% g Eieit § 3T fOhT o7
20‘m":rg‘ra1?ﬁ% ar g 160 U et g At

upsssc (Lower-II 30, 9 Shift-1T"")
(a) 144 40
(c) 152 (d) 148




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The salary of A is®0% more than that ¢f B
After 1 year, A's salary is increased rmﬂ

and the ratio of A's salary to B's salary
becomes 2:1. What 1is the percentage
increase/decrease in the salary of B?

A T a9 B ® 80% 3TfiIeh &1 Ueh 9T o o1,
A T AdT 20% Ak Tl § a7 A X B
o= AT U 2:1 & ST gl B & oda |

Rt gt At T gt 2
(a) 8% decrease/8% HH!

(b) 8% increase /8% df§

(c) 0.8% decrease / 0.8% ol
(d)

d) 0.8% increase /0.8 gfg
UPSSSC Krishi Pravidhim Exam 2018 (15-02-2019)
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Two candidates stand in an election. 330 votes
are declared invalid in the election. The

winning candidate secure@ of the valid
votes and wins by 648 votes—Tthe total number

of votes polled is

IATT U g SHaR @¢ id §1 39 oA |
530 dic_ 3y _Hiva feu wma €1 fasn
Sufiga™ &Y AE @ 62% e HET § 3
648 TSt | Td AT §1 A _fhU T aer ol
ol T fehgt 87
(a) 2235 (b) 293
(c) 2700 0

UPSSSC HcTchU eleTeh-12.01.2019
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e _seating capacity of the auditorium A is

» more than that of auditorium B. By what
“percentage is the seating capa(:lty of

audltorlumBless than that of auditorium A?
TeeIRaT A oht r?rmaﬁnB

Eﬁ"rmﬁ 150% SITET §) Affgeiay A &t

WﬁﬂT@ﬁﬁaﬂBﬁaﬁ?ﬁ &THAT TR

(a) 52% Q&Eﬂ%
(c) 62% (d) 64%

’ UPSSSC -TeTehT =ITeTeh-12.01.2019
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The_money spent on interiors of a house was
\M}) its value. If the cost of the interiors was

16 lakhs, the cost of the house is

T o SMidReh f&@ U feram e @=t 3desh g

& 40% 9T 3R AR e W 16 org &

AN gl g, a7 T i HiAd AT 72

(a) 35 lakhs /35 @@ (b) 40 lakhs /40 &

(c) 45 1lakhs /45 ©fi @  (d) 50 lakhs /50 @

UPSSSC HcTchT =Tc1eh-12.01.2019

@y/’é%{—@ fo b
|07 = o




A mobile was sold by two mobile sellers at a
total gain of 45%. If the first seller sold it at a

gain of 25%, then how much gain percentage
did the second seller achieve?

Teh WIETEA, I HIagd Taehdrait gRT 45% o
A AT W ST TN Al Uge faghar F 39

25% ok TN UT o< &Y, af gEr fashar 4 feraw
Y9t e Ut fepaan?

UPSSSC (Lower-II 01.10.2019 Shift-I*)
(a) 20% (b) 18%
(c) 16% (d) 14%
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While selling Sm of a cloth, profit made is equal
to the cost price of 2 m of that cloth. The profit
ercentage is:

T SeM % SR, TS oy S8 wuS
2 m % THT U ok aal gram gl AT e

a9t AT il

Msssc (Lower-II 30.09.2019 Shift-I1I'"")
40% (b) 30%

(c) 45% d) 3319 e
*r

3
jf‘\q/» NS
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Ramesh sold a box at 10% profit to Suresh.

Suresh sold it to Ganesh at 20% profit. If
Suresh's profit is I44, then the cost price of the

C] box for Ramesh is:
WIT 4 Teh q&ET 10% T W GIYT <kl o=

IO |wora 30 20% T WX 0T kit o= Tgam afg
TIIT 7 T44 BT AN ARG femram o wor o faw
%0 _,,44' 3 T T T Tod TehaT §7
(/4 UPSSSC (Lower-II 30.09.2019 Shift-I', 10 AM )
A. 100
@ \/Bfﬁ
C. 300
D. 400
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A grocer sells rice rofit of(20%/and uses a
weight which /1s 25% Jess. Find the overall
percentage of gai

T ToRaT smamdt 20% o W S ot @
UT Al W 25% oht Ul o <aT gl el o
Yia9Td ATT chitaTa)

upsssc ( TTSIT Uadeleh 31.08.2019 )

5 (o) gz s

G K B. 20%

“/g(,g c  C.30%
0%
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If the cost price is 80% of the selling price, then
what is the profit percent ?

Ife fordl aig &1 NTd Ued, $Heh Toshl Hod
&1 80% & A T WiToTd oRIT 372

UPsssC (Lower Re.Exam 2017 (28.07.2019)
(a) 20% (b) 25%
(c) 28% (d) 30%
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If a merchant offers a discount of 60% on the
list price of an item, then he makes a loss of 5%
What percentage profit will he make if he sells
that item at a discount of 20% of the list price?

afy g smuTdt fendlt g it g Ted W 60%
& BT YSH &Il §, O W 5% aht gIi Zidt g
Tl T & 20% H P2 W a8 O d9d W
W TeRra=T wferord ey ghm?

(a) 20% profit/20% 49
(b) 4% loss/4% BT
(¢) 14% profit /14% <¥9

(d) 90% profit/90% <49
UPSSSC State Mandi Parsad Shift 11 2018 (30-05-2019)
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If a retailer sells a shirt at ¥ 2,350 and he
makes a 6% loss, at what price should he sell it

to make a 6% profit?

afe s U faghar T 1€ T 2,350 W o=t
& 3 W 6% oAt BT BT &, dF 3U 6% o

HU o AT ThT Tod T ST STy ?
(a) 2,450 (b) 2,550
(c) T2,750 (d) 2,650

UPSSSC State Mandi Parsad Shift 11 2018 (30-05-2019)
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The selling price of an article is 80% of its cost
price. If the cost price is increased by 12% and
the selling price is increased by 25%, what will
be the percentage increase/decrease in loss with

respect to the earlier loss?
Ueh &g Rl Talht Ted St AT AT 80% |

i AR YT &l 12% AT Telsht Ted ot 25%
ST faar AT &, a7 U &t BT o Hoer |
T 7 fora % ghg /alt anf?

(a) 9% increase /9% Ifg
(b) 18% increase/18% 3fg
(c) 20% decrease / 20% HHT

(d) 40% decrease / 40% FHHI
UPSSSC Krishi Pravidhim Exam 2018 (15-02-2019)




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A vendor sold a dozen bananas at I 48 and
made a 20% profit. If he had sold them for ¥
60 dozen then he would have made a profit of

Teh Torshel 3 ek T Shot T 48 1 At 31 20%
T HATET Al I 32 T 60 5T o 9T H

ST giaT af 98 hT AT HATATI
(a) 40% (b) 60%
) 50% d) 25%

UPSSSC State Mandi Parsad Shift I 2018 (30-05-2019)
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If the difference between the selling prices of a
bag at profits 10% and 11% is 11, then the

cost price of the bag is:

Tfe 10% 3R 11% ok T U Ueh o o Toehed
Tl &t 3fa¥ T11 8T, T ST &l AT 0ol a9l § 2
(a) Z1100 (b) 1000

(c) T1200 (d) %1010
UPSSSC SITaTH Wi¥T8Teh-16.09.2018 Ist Shift




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A shopkeeper offers discount of 28% on the
marked price of an item and thus ends up
selling at cost price. By what percentage is the
marked price greater thqn the cost price?

Uch gohlHgR l%ﬂ:ﬁ Jfehd e W 28%
& T Y AT § o g TH YN AN 0o WX
o] A Tahl AT §1 AN qod o 3ifhd Tod

oY gferora a1fres §72
(a) 18.25% (b) 22%
(c) 38.88% (d) 28%

UPSSSC State Mandi Parsad Shift 1 2018 (30-05-2019)




FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

IS litres of a mixture of milk and water
contains 5% water. How much pure milk
should be mixed with it to get a mixture
containing 2% water?
15 ¥fiex gu 3R o & fagr # 5% 9 812%
T arer g gyne & o forg gaw TR
Vg g fremar sman =nfea?

UPSSSC (Lower-II 01.10.2019 Shift-I*)
(a) 20.5 litres/20.5 @ieX (b) 21 litres/21 T

(c) 21.5 litres/21.5 @l (d) 22.5 litres/22.5 @ieX




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A money amounts to T 4,200 in 3 years and to I

6,000 in 6 vears at simple interest. The rate of
interest is:

Tah ST HTERI &5 &7 W 3 o998 ° I
4,200 31T 6 a4 W T 6,000 B T g1 =ATH
T =T Teha-T &7

UPSSSC (Lower-II 30.09.2019 Shift-I*, 10 AM )
(a) 20%

1
b) 12—%
(b) >

) 30%
d) 25%




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The rate of interest on a certain sum of money

is 4% per annum for the first 2 years, 6% per
annum for the next four years and 8% per
annum for the period bevond 6 years. If the
simple interest accured by the sum for the total

period of 9 years is 1120, then find the original
sum.

Ueh fAfvea a=widn o &s &t € Ugel 2 i
& T 4% wfq o &, 30T 4 il & faU 6%
ufa ad 3T 6 a6l o g &t 74T & fau 8%
yfaad g1 afe 9 ol ahf 3@ ¥ 1120 &I
WERUT ST Y ghar g, of O Tivr A

iy
UPSSSC ( 7T5IT Udaei& 31.08.2019)

(a) 2400 (b) 2200
(c) 2000 (d) 2600




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

What is the amount of ¥ 6,000 at the rate of 5%
per annum for 2 years, when interest Iis
compounded annually?

2 AT o U 5% wfe as &t <€ | T 6,000 &
TRT =T EAT, T Siehdleg oaTS alitieh ©F o

firerar 87
UPSSSC (Lower Re.Exam 2017 (28.07.2019)
(a) I 6615 (b) T 6655

() T 6775 (d) T 6900




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If the amount received at the end of the 3rd
and the 4th year at compound interest

Ifs Uer A=A Uead W Tshglg ST W
219,800 31T T 21,384 &, 7 AT ST AT &7
(a) 8% (b) 5%

(c) 10% (d) 9%
UPSSSC State Mandi Parsad Shift I 2018 (30-05-2019)




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

On a certain principal if the simple interest for
two years is ¥ 3,200 and compound interest for
the two years is 3,472, what is the rate of
interest?

Ueh Yo gae W afe S a9 o feTg |remur
TS 3,200 37X T Al oh {0 wshgleg T

Z3,472 8, d TSI ST AT &7
(a) 8.50% (b) 30%
(c) 17% (d) 22.50%

UPSSSC State Mandi Parsad Shift 11 2018 (30-05-2019)




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

10,000 was lent at the rate of 5% compound
interest per annum for two years. If the sum
was lent for the same duration of time, but at
6% compound interest per annum, how much
more would be the interest to be paid back?

5% CAchdleg AT Wiel a¥ &t ¢ & 10,000 Y
T o aut o fow sur #ft w8 afe ag i
a1 & 3afy o Teg, fohed 6% wIshgleg TS

wﬁraﬁﬁaﬁﬁﬁﬁ@?ﬁ ar feraar 3iR

3Tfereh ST T USdT?
(a) X211 (b) T210.20
(c) 3211.20 (d) 201

UPSSSC STaTH WidTeTeh-16.09.2018 IInd Shift




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

How much will 2500 amount to after 3 years
when the interest is compounded annually at
the rate of 20% per annum?

qfe SATT 20% T o6 o e O driieh &0 4
AT BIaT , a A & ek 3 a9 & ug=q

22500 skt TIOT TeRa=t g Smueii?
(a) 4200 (b) 4230
(c) 4320 (d) T4310

UPSSSC SITaTH UidTeTeh-16.09.2018 Ist Shift




=) %aéW¢// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO coDE : E06321 /
In how many years, the compound interest on
an amount of Rs. 19200 at the rate of 10% p.a.

will be Rs. 4032?
fora= o5t ® %, 19,200 <kt T X 10% Ffca™ ok

I W TAchgleg ST &, 4032 F?

I |
(a) 15a1sf (b) 25aﬁf
(c) 2N (d) 399

UPSSSC 3T T11 Wl uiieT, 2016




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If 10% of x=25% of y, then x_: y is

Hﬁ’xﬁf]ﬂ%=yﬂ25%%?ﬁx:y Xy
UPSSSC(Lower Re.Exam 2017 (28.07.2019)
(@ 2:5 (b) 5:2

(c) 2:3 (d) 3:2




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Some candidates were selected by a company
after a hiring process. The ratio of selected to
unselected was 4:1. If 70 less had applied and
30 less selected, the ratio of selected to
unselected would have been 6:1. How many
candidates were selected?

Teh Ul gRT & OF W& &l ihal & &g
&9 IUiica’l &l IAT WA om udi=a 3R
amﬁﬂc‘vhﬁmmm“mlaﬁ?um
A X aAeT fEaT BT 3w 30 ®W @
T e U B, o S R et @t

aﬂ'ﬂ'l?r(i:l w1 2ran e sofieard &1 a3

ferar =T ar?
(a) 105 (b)y 210
(c) 420 (d) 315

UPSSSC State Mandi Parsad Shift I1 2018 (30-05-2019)




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

84 is divided in the ratio 2:1. The larger of the
two %arts is: ' ‘

2:1 o FUTd U Tarnfra fewar w=m =i
amﬁ o H TeT 9 .......... gl

(a) 60 (b) 56 (c) 42 (d) 28
UPSSSC &ITITH WivTaTeh-16.09.2018 IInd Shift




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Two numbers are such that the ratio between
them is 2:7. If 4 is added to each of them, the

ratio between them becomes 4:9. The original
numbers are:

3 Tt e € fAe e 2:7 € afg s
¥ y& U 4 g fear s, | e 1T
4:9 B AT 1 Ut UEATT T 82

(a) 8.28 (b) 4,14  (¢c) 6,21 (d) 2.7
UPSSSC SITATH UfT&Teh-16.09.2018 Ist Shift




FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

A and B together can complete a task in 9 days,
whereas B and C together can complete it in 15
days. All three can complete the tak in 6 days.
In how many days will A and C together

complete the task?
A 3R B faeras u &g 9 Tt o ool & wehd
g, Wafeh B 3 C fueret 39 15 fa=i ¥ uui &
Tahd g1 1 Uak |y et g 6 et § o
& Wad 2l A 3T C T W et a8 &
fera= fai o qui &ir?

UPSSSC (Lower-II 01.10.2019 Shift-I")

(a) 6% (b) 6
4 3
(c) 5? (d) 6?




FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

A father and son working together can finish a
piece of work in 24 days. If, for the last 6 days,
the father alone works, then the work is
finished in 26 days. In how many days can the
son alone finish the work?

U fuar i o fueret fodt e &t 24 Tt o

T & Wahd 21 Afe, sifam ¢ fem foar e

&1 AT A & 26 faA ¥ |ure & S 2

T 3Thet Teha fai o ohrd Oar ot Tahal 872
UPSSSC (Lower-1I 01.10.2019 Shift-I"')

(a) 72 (b) 70

(c) 68 (d) 66




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

X, Y and Z completed a piece of work costing X
4,480. X worked for 4 days, Y worked for 6

days and Z worked for 8 days. If their daily
wages are in the ratio 5 : 6 : 7, how much
amount will be received by X?

X, Y 3R Z 3 T 4,480 T &N ATl Ueh ahtdl
gut femam X 7 4 fo7 =t femam, Y 7 6 fo 3R
7.3 8 faq e feram e ST SR a1 5: 6
: 7 oh U U g, Al X okl Teha=l &=-T0ioT
forenfi?

UPSSSC (Lower-II 01.10.2019 Shift-I*)
(a) ¥ 800 (b) T 1,200
(c) 2,400 (d) T 3,000




=) mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE;

How many people have heights between 159.5 and 169.5 cm?

159.5 3T 169.5 THt o i< fohd AT shl TS &2
(A) 8 (IBy(C) 5(D)4

The histogram below shows the height distribution (in cm)
of 30 people. = f&=T =T e 30 TR At S=e foawor
@ ) fegmar 2

10

w W

S = N W &5 U O

139.5 149.5 159.5 169.5 179.5 189.5 190.5




/”%‘, %o%eazmd/// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE

How many people have height less than 159.5 cm?
fohe ST bl alTg 159.5 Bt & 1 27
(A)12(B) 11 (C) 14 (y

The histogram below shows the height distribution (in cm)

of 30 people. = f&=T =T e 30 TR At S=e foawor

., (& ) @ 21
. : -
AN

139.5 149.5 159.5 169.5 179.5 180.5 199 %




=) mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE;

How many people have a height greater than 169.5 cm?
fehe ST ohl SelTs 169.5 T § 37145k 82
(A)SB)7(C)& D)6

The histogram below shows the height distribution (in cm)

of 30 people. = f&=T =T e 30 TR At S=e foawor

., (O H) feEmar 2

; (2.

: (&)

: L

139.5 149.5 159.5 169.5 179.5 189.5 190.5




=) mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE;

What percentage of people have heights between 149.5 and 179.5 cm?
149.5 3T 179.5 Tt o sfi=r foer wfcrera ARt <Al werg 22

(A) 50% (B) 75% (C) 70% (D) 60%

The histogram below shows the height distribution (in cm)

of 30 people. = f&=T =T e 30 TR At S=e foawor
., (& ) fTeEmar 21

O = N W 5 N 6 N

139.5 149.5 159.5 169.5 179.5 189.5 190.5




=) %aéeazm¢// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO cODE : E06321 /

What is the ratio of the number of people whose height is less than 159.5 cm and whose height is
more than 179.5 cm? 37 AN <hl HEAT T FATUTA FAT § [Tkt Fertg 159.5 AHT & &7 7 3R e

TS 179.5 9HT T 37feren 87
(A) 4:1 (B) 7:2 (C) 51 (D) 3:1 l/g/

The histogram below shows the height distribution (in cm)

of 30 people. = f&=T =T e 30 TR At S=e foawor

1. @t o) Rwmar g
E -
?M

G Q
SN
139.5 149.5 159.5 169.5 179.5 180.5 199 %

O = N W 5 N 6 N




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

Who has scored the highest marks taking both the subjects together?
ST for=t ot fercATeRt ae@ 3feren 3ok fora ame foru 22
W A (B) B and C both (C) Only C (D) Only D

2 (UP MANDI RARISHAD 2019
iy © @
87

% - 80

80 /5 70 72 /5

70 A3
60
50
40
30
20
10




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The total marks obtained in Hindi is equal to what percent of the total marks obtained in Hindi

and Geography? Tt & ST wet afeh féet aftt spriver 3 stTer et ateni 3 fober srFeorer 26 srTar 37

(A) 38.58% W/ (€) 69.13% (D) 55% G\*’@‘m (UPSSSC MANDI PARISHAD 2019
‘ e 100/ A

e 2/
23 7B - & @ J/ @ \7/5‘/
70 X zﬁs ,< s =
o d | K
s LM I LK
40 )< X
20 2( X )< X
_ 48.\%% 10 4 X ¥
7 .
/\/\m A B C D
_9T'WL | vORD &apna




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the average marks obtained by all the students in Hindi.

gl S Ry &S | I" ST 37k J1d shiftsg)
(A) 78 (B) 75 (C) 728°(D) 70

(UPSSSC MANDI PARISHAD 2019

87
80 80
75 2 79 75
63

30

20

10 f

0 AL NV == d.
A B C D




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the difference between the total marks obtained by student A and that of student D.

W@m D ST TH el 3Hehi oh ST=l ol ST T shifSU)
/f

(B)5(C)4 (D)6 < (UPSSSC MANDI PARI

87

75 gq -
e /70
A3
30
20
10
0
A B C D




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The marks obtained by studen Hindi 1s what percent less than the marks obtained by student C in
Hindi? ®& D 17 £ 1 UTH 3ish, S C gR7 &t 1 9mH et ¥ ford= ufawrd &0 82
(A) 11.11% (B) 8%(C10% (D) 9.09

(UPSSSC MANDI PARISHAD 2019

87
5 o - C ’ 75
70 /2

63




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The total numl;iigﬁ_glastic bat 1s approximately what percent more than the total number of wooden

bat? qu\li\{-d/ STt shi)ehel ST, Tehg] o Socl shLske Gl H TTH fehd SidSTd STfereh 22

#—\Wood bats Plastic bats




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the ratio of total bats manufactured by (REEBOK to that of total bats

manufactured by MRF? {isiteh gRT e - FHA I AU g Afdd et ST |
mﬁmaﬁﬁr@r M 25D :
(A) 455 : 336 (B) 490 : 335 (C) 493 : 350 (D) 350 : 493 3
\ : Number of bats manufactured
600 - 558 552
| 400 - - ‘
300 A 264 652
100 -
0 . . . .
MRF CEAT SS NIKE REEBOK

#—\Wood bats Plastic bats




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the average production of wooden bat by all the sponsors ?

QAT TTATSTehT ST ARl oh Tl ohl STTET StUTE 3

(A) 356.6 (B) 355.6 (C) 3764 (D) 325.5
\ Number of bats manufactured

500 - a50 < 456\ _.

400 - UL

300 - \264 65 o .

200 A 235

100 -

MRF CEAT SS NIKE REEBOK

-2—\Wood bats -Plastic bats




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the difference between the total production of MRF and SS bats? TH3IU®
3R THTH S o HeT 3cUTa oh el WWWO (B) 150 (C) 160 (D) 125

Number of ba
558

factured

600 -

500 - 5 .

400 - L

300 4 \265

325
200 - 2.35

100 -

MRF CEAT SS NIKE REEBOK

#—\Wood bats Plastic bats




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Which company has the second largest difference in the production of wooden and plastic bats?
TTehel AR o ool oh SedTe H SO AaTd oST e fohdl shu1 =T 22
(A) SS (B) CFAT (C) NIKE (D) REEBOK

wer of bats manufactured

600 -

500 -

400 375

300 -

200 4

100 -

O | & 1 1 1
MRF CEAT SS NIKE REEBOK

-2—\Wood bats »—Plastic bats







Mmé,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /
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Mmé,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /




Mmé,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /




%déeamd/// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

What is the quotient when 2143 is divided by
38 7 /2143 @1 38 ¥ faufa &t W WRTHA

AT ZiaT 872
(@) 55 (b) 57
(c) 56 (d) 54

UPSSSC State Mandi Parsad Shift 1 2018 (30-05-2019)




